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ERAEU={-2-10123}, #&4={xeZ|{<2}, WCyd= ¢ )
A. {181 B. {-2,2,3} c. {-2,-12} D. {-2,0,3}
BEAU={xeN|xs4}, 4={12}, B={24}, W(CAVB=C )
A. {12} B. {1,2,3,4} C. {234} D. {34}

FAIXZD: ©0{0}, @2<{0}, ®{0.1}c{(0.1)}, @{(ab)}={(b.a)} Emtaisk
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Al B. 2 C. 3 D. 4
TRAXTFREEHHLER, HROZ ()

A. AUBNC)=(ANB)U(ANC) B. AN(BNC)=(4nB)NC
C. AN(BUC)=(ANBYu(4NnC) D. Cy(AdvB)=C,AnC,B

Sms A={x|x<a}, B={r[ix<2}, B AU(C;B)=R, Misc# a IEUETERC )
A. {a|a$1} B. {a|a<1} C. {alaZZ} D. {a|a>2}
BE A={x|me +2x+m=0,meR} pHHRAF—ATE, WnmEHRER

A, {-1} B. {0} c. {-11} D. {-10,1}

Tl BpIERHRIRE ( )
A. Fa>b, Wac® > be*
B. Ha>b, Ma*>p
b+m b
e
a+m a
D. &-l1<a<5,2<b<3, M-4<a-b<3
FALIERES, 6 XAV 3 THWMMBEZMATF 24 %, W4 XLBEE S EN
B M2 AN 22 78, B4 2 XA 3 ITBENMIE RS R R ( )
A. 2 XUBER B. 3 XRIGRRE C. MR D. FEEHE

C. Fa>b>0, m>0, N

= SEBGCREE 3N, B0 6 S, 318 4 ESMEBITMETR,
BEMFAREER, £BENNE 657, WORMNEBHID, FEEHTO
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0. Fl <27 2<x<aMRATUERM, NS WETIR ()
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10. FHHBREAHSERA ( )
A, Eas>b>0>c>d, Mab>ed

v e

. Fact>bct, Ma>b
¢

C. Fa>b>0Hc<0, mu:"p?

1. UTHRIERNE ( )
A. %&y:ﬂ#}ﬁfj\{ﬁﬁg; B. #a,beRHab>0, [L'U%+%22
x

D. #asb B>, Mab<0
a b

C. £HxeR, Fllsz+3+le+2 BRMER3  D. ma&y=2+x+%(x<0)ﬂ<1ﬂjc{ﬁﬁs0

= HBE(EAEL 3 NG, SNES S, H155)
12. AR vYx> 1, >1"IIEER

13, FeR s 1y .
24+ x

14, BEXTF xHRER " ~(2a+1)x+2a <ORFHNERKARE, N HIRETEER :

P, FRERE (RAEL S /ME, #7759, BENEHICFA, EBTENR
"I

15. (13 4}) BEIET x WA%R 25 +(32-T)x+3+a—2a" <0 (IRRIER M.
(1) BEMFH—ANTERO, RELH o HIBUETEE;
(2) EM={x]-T<x<3}, R a KA.

16. (154)) RMAA={x|-1Sx+1<6}, B={x|m-1<x<2m+1},

(1) ¥m=38, RANBE AUB;
(2) BB AR, REFm MEMETEE.
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17. (15 43)

(1) BEXRTxWTEL -20n+2)x+m’ -1 =0 HHAELHAR, RELEm BIRETEE.
@) RETFXWFRSR ax +(2a—1)x-2 <0a e R) fofEse.

18. €1740) WA, SAWENCO3) MLy =a’+bla=0) Sx BT 4, BEA,

H&y=x+mdhm CHEB.
(1) KmpE;
2) KM y = ax® + b(a # 0) HIRIER;

(3) WK LRBFER M FEELR BC LJ7), 8 LMCB=15°? HIFE, RHAM
fIsstn: EAFE, HiRHES.
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19, (1740 BRES () Mg(x), UREM 0= f(x) <8 (2).
(1) iﬁf(x)=_x1+2x+3,g(:r)—...-~x+2, *Mf[’ht"“
(2) "&f(.'c)-—'axz +20x-—-4,g(.t)=2x(x+2), %Mﬂx)sr’) 5RH‘-j’, Eﬁ_a H"}m{ﬂ:ﬁ@;

s H(X)=20 BEM g "M #25 Rb HIIETE

@ 8 /(x)=px-b(x) =21
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